Section—-C 2x16=32
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 16 marks.
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10. Explain various processes of Social Change in
detail.
Tt Uikadd w1 fafwer gfewenei = fawr |
HHATRT |
11. Define Joint Family and explain its limitations.
Elucidate the changes occurring in modern times.
T URAR B TR R gU el el @
AR | TYHE I99 § YR UNER H B 9

qiedal sl T HifeT |

12. Describe Family Disintegration and clarify its
current situation in India.

TReTe faeed 1 ¥Hend gu vRa | 9@t feafa =i
T Hife |
13. Write an essay on Communalism.

TSIl R TH oy fafa |
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Note —

The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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1.
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(vi)

Define Culture.

g&pfa @1 gRwfoa wifw )

Who wrote ‘Human Society’ ?

‘Tg el gwaw fRen foret 2
Define Class.

&l g wifew

What do you understand by Soft State ?
Y T W 9 1 G 2

Write four causes of Social Problems.
IS FHENST & ¥R W@ &RU fafen |
Write the full form of NCMP.

TIHTHG &1 qu &9 fafem |

(vii) Define ‘Corruption’.

URER & IR S |

(viii) On which data MNREGA was implemented

in India completely ?

wom e fafs @6 qof &9 & wra & @ fwen
T ?
Section-B 4x8=32

(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.
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. Describe the changes occurring in Primary Groups

at present.
Tt g w1 faRemed § adae |§ B9 A Sear
% FHEEY |

. Differentiate between Association and Institution.

wfafd g geen § 3R T Hifu |

. Write the Aims of Marriage.

foae & sevg fafau|

. Write a note on the changes which we see today

in caste based Social Stratification.
T FHE H Wifa Wi TR W T o

e |

characteristics of  Individual
Disintegration.

i fased & @& T wifeu |

. How do Poverty and Unemployment affect each

other ?

YA T8 SRISRT fofd YR T TR 1 gifod s
g2

. Describe the Governmental efforts to eradicate

Illiteracy.
FReRA 39 ©q fhd <1 W® &Rl YAl &1 9o
RIS |

. Give effective suggestion to Eradicate Corruption.

TR AR & guret gema it |
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